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Review: Chapter 3

e Date L{/d'E;H”r Block
o 1 - 3, write the exponential equation modeled by each table, graph, or description.

x |1l oo
-2 20 7
-1| 10 )4
1] 2

2 ____//
2 | 2 ]

4

3. You buy a new computer for $

compu

e
?f = arveo (s
In 4 - 9, evaluate each expression WlTHOUT’A‘CALCUI:ATU‘K."/
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7. Ine @ 8. log, 320-1log, 5 9. ¥
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s by 50% annually.

11. Use log, 2 ~ 0.4307 and log, 3~ 0.6826 to rewrite and evaluate the following expressions.

a. log (3) b. log, 6 c. log,24
\3
3 +log T log, (3.90,17
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12. Expand each expression.

a. log; 7x'y x . ) ¢ Inyxy”
. | - ) 5
E,_;):]—kg\u%xm X nx + B\nj— V("ﬂ "i\"x +z\n7 .
}’lvﬁf + |n ﬁ\
13. Condense each expression. €

1

logx—log7

14. Solve each equation algebraically. When necessary, round your result to the nearest thousandth.

a. 3*-5=9 b. 37 -6=2 c.e”-7=10
: -~ > .
g&*i‘\‘t Z =¥ €qy’:_‘—]
— 1L ¥ -z -2 X
ot =2 log, 8 == \ﬂ 3. -x
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d.3+e™ =11 e. In5x-9=11 f3+log23x 5
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e, D -5
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g k3 % = Q703303708 @
g. log,3+log, x =log, 5+log,(x-2) h. log,(x~-5)=4 i. log(3x +2) =log(2x -1)
& -2
|03L%x - \sz S(x-2) = S Fyrd =2 x|
L = S\ ol4S=M <
—1X = "\© .
X _ S g\’» =X
j. log, x +log, (x —1) = log, (4x) k. 3e™ +8¢*-3=0 —Gxt
k. _ ___“g n
(4%) x fix = Gy~
x=) = Loy - 3
\052 x ( ) J 24 (k43D =) (x +3) \

(3e¥=) (e¥<3) =0
C’"c"g i 3= x<_—l.0‘?‘i

Scanned by CamScanner




5. Determine the balance if

a. annually you invest $3500 at 6.5% for 10 years compounded: .
e b. weekly wor | 529 c. continuously
3500 (| + 06S5) 3w ()4 ‘-g-‘z) g %)

2S00 €

16. A deposit of $10 ,000 is made in
The balance will double in 5 years
a. What is the annual interest rate for this account?

J2=c°
JFaX=y _

a savings account for which the interest is compounded continuously.

b. Find the balance after 3 years.

158627 :
| 0000 €. = A W

17. The population of Glenbrook in the year 1910 was 4200. Assume the population increased at the rate
of 2.25% per year.

a. Write an exponential model for the population of Glenbrook. Define your variables. MQ

o = L/;zoo(/.o;lfl{)X (710 €=°©

b. Determine the populatlon in 1930 and 1900

o Determme when the population is double the original amount.

= )5 /55083

— 1S acs _
& 5 Q41IS = ay(
[Glo+3/IV =
“iq
18. The half-life for “C is 5715 years. y = L= =

a. If there are 2 grams after 1000 years, what was the initial quantity?

@o 2 = L( k)T

@EF 2. 2SE T

much is present after 1000 years? -

)\

b. Ifthe initial quantity I3
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. 2o o =3000(2).
19. The number of bacteria present in culture N(¢) at time ¢ hours is given by N(7)=3000(2)

a.  What is the initial population?

+ s
¢. How long will it take the population to triple in size? 5 =k loc 2 st

/. 5 8BS hou.s
20. A species of bat is in danger of becoming extinct. Five years ago, t e\fﬁfm‘pvp‘u‘lﬁmmzofthe species

was 2000. Two years ago, the total population of species was 1400. Using an exponential model
= ae'"‘), determine the total population of the species one year ago.

/u/ou = .Douoe_zm

17:€3L y—- /q)
o — D> aus s, ()

21. The number of students infected with flu after ¢ days at Washington High School is modeled by the
following function:

P(t) = _IGOL_

1+99¢~04 .
a. What was the initial number of infected student@

b. After 5 days, how many students wi infected?

/1103 %2

at will be infected?

c. What is the maximum number o

/oo
d. According to this model, when will the number of students infected be 8007 = ;f—
foo = Le== oo (14997 ) =/bee € s
~ [TEre [£3Fe™C= 2 _ M= In( )
"//L[?cﬂo"‘fs . G ¥t/
22. Find alogistictqn%ﬂcﬁe form y=1 e that fits the graph below, if the y-intercept is 5 and
+a
the point (24, 135) is on the curve. ST ,
g2 3= feer
2= 125 1+ 7)< SO
= o o
= 5\93
Eari 0L = (@Y =
a—= ?? 62‘-{ ol / N ____5;(;.)
<8 ) s
L= » @ / | +29¢. 860
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